BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER. SANITARY SEWER AND DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE TERALYN WOODS PARKWAY EXTENSION PHASE 4 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS JULY 6, 2022

JULY 6, 2022 LJA ENGINEERING, INC. A.CAROTHERS JULY 8, 2022 0474-8008 (9.2)

BIDDER'S NAME	TOTAL AMOUNT BID	BID INCLUDING ALTERNATE BID NO. 1 ITEMS
1) NORTHTEX CONSTRUCTION, LLC.	\$2,771,581.25	\$2,647,663.25
2) R CONSTRUCTION CIVIL, LLC	\$3,099,323.00	\$2,971,553.00
3) PRECISE SERVICES INC.	\$3,175,941.10	\$3,014,036.10
4) CE BARKER, LTD	\$3,246,223.94	\$3,157,453.94
5) PRINCIPAL SERVICES, LTD	\$3,377,303.90	\$3,132,728.90

CALENDAR DAYS 75/75

I, Micah Kreiekemieier, PE, hereby certify these bid tabulations to be true and correct.



BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE TERALYN WOODS PARKWAY EXTENSION PHASE 4 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS JULY 6, 2022

2) R CONSTRUCTION CIVIL, LLC

3) PRECISE SERVICES INC.

JULY 6, 2022 LJA ENGINEERING, INC. A.CAROTHERS JULY 8, 2022

1) NORTHTEX CONSTRUCTION, LLC.

0474-8008 (9.2)

				1) NORTHTEX CONS	TRUCTION, LLC.	2) R CONSTRUCTI	ON CIVIL, LLC	3) PRECISE SEI	RVICES INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
DIVISIO	II – WATER DISTRIBUTION SYSTEM								
	NCH P.V.C. WATER LINE, C-900, DR 18, CLASS 235, INCLUDES ALL DEPTHS, ITINGS, BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	153	\$48.00	\$7,344.00	\$55.00	\$8,415.00	\$84.50	\$12,928.50
	-INCH P.V.C. WATER LINE, C-900, DR 18, CLASS 235, INCLUDES ALL DEPTHS, ITINGS, BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	3230	\$90.00	\$290,700.00	\$92.00	\$297,160.00	\$105.00	\$339,150.00
	RE HYDRANT UNIT ALL DEPTHS (INCLUDES APPROPRIATE TEE, FITTINGS, 6° LTE VALVE AND BOX, AND LEAD PIPE), COMPLETE IN PLACE	EA	12	\$7,150.00	\$85,800.00	\$8,100.00	\$97,200.00	\$8,000.00	\$96,000.00
4 8-	NCH AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	7	\$2,500.00	\$17,500.00	\$2,500.00	\$17,500.00	\$2,250.00	\$15,750.00
5 12	-INCH AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	4	\$4,300.00	\$17,200.00	\$4,100.00	\$16,400.00	\$3,900.00	\$15,600.00
	ENCH SAFETY SYSTEM, ALL DEPTHS (INCLUDES ALL LATERAL LEADS), DMPLETE IN PLACE	LF	3500	\$0.55	\$1,925.00	\$0.10	\$350.00	\$0.10	\$350.00
	" PLUG & CLAMP WITH 2" BLOW -OFF VALVE & BOX ASSEMBLY, COMPLETE IN ACE	EA	1	\$2,000.00	\$2,000.00	\$1,400.00	\$1,400.00	\$1,900.00	\$1,900.00
	" DUCTILE IRON WATER LINE, CLASS 52, INCLUDES FITTINGS, ADAPTERS, EDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	151	\$150.00	\$22,650.00	\$160.00	\$24,160.00	\$175.00	\$26,425.00
	PLUG & CLAMP WITH 2" BLOW-OFF VALVE & BOX ASSEMBLY, COMPLETE IN ACE	EA	2	\$1,750.00	\$3,500.00	\$900.00	\$1,800.00	\$1,950.00	\$3,900.00
10 W IN R	ET CONNECTION OF PROPOSED 12" WATER LINE TO EXISTING WATER LINE, CLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND EMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL EPTHS, COMPLETE IN PLACE	EA	1	\$2,300.00	\$2,300.00	\$800.00	\$800.00	\$1,500.00	\$1,500.00
DIVISIO	I - WATER DISTRIBUTION SYSTEM SUBTOTAL:				\$450,919.00		\$465,185.00		\$513,503.50
DIVISIO	I II - SANITARY SEWER COLLECTION								
1 S ⁻	ANDARD PRECAST 4' DIAMETER SANITARY SEWER MANHOLE, (0'-8' DEPTH), CLUDES PROCTECTIVE INTERIOR COATING AND ADJUSTMENTS, COMPLETE IN ACE	EA	1	\$4,900.00	\$4,900.00	\$4,900.00	\$4,900.00	\$7,000.00	\$7,000.00
	CTRA VERTICAL DEPTH FOR 4' DIAMETER SANITARY SEWER MANHOLE (OVER 8' EPTH), COMPLETE IN PLACE	VF	1.6	\$610.00	\$976.00	\$400.00	\$640.00	\$595.00	\$952.00
	PVC SEWER PIPE, ASTM D-2241, SDR 26, 8'-12' CUT, INCLUDES BEDDING AND CKFILL COMPLETE IN PLACE	LF	20	\$84.00	\$1,680.00	\$80.00	\$1,600.00	\$195.00	\$3,900.00
	PVC SEWER PIPE, ASTM D-2241, SDR 26, 12'-16' CUT, INCLUDES BEDDING AND ICKFILL, COMPLETE IN PLACE	LF	119	\$75.00	\$8,925.00	\$53.00	\$6,307.00	\$200.00	\$23,800.00
	ENCH SAFETY SYSTEM FOR SANITARY SEWER, INCLUDES ALL LATERAL ADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	139	\$1.00	\$139.00	\$1.00	\$139.00	\$0.10	\$13.90
6 8"	SANITARY SEWER PLUG, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$800.00	\$1,600.00	\$150.00	\$300.00	\$465.00	\$930.00
DIVISIO	III - SANITARY SEWER COLLECTION SUBTOTAL:				\$18,220.00		\$13,886.00		\$36,595.90
DIVISIO	I III- DRAINAGE FACILITIES								
	EINFORCED CONCRETE TYPE "C" MANHOLE, FOR 42" STORM SEWER AND MALLER, INCLUDES ALL ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	19	\$4,150.00	\$78,850.00	\$6,100.00	\$115,900.00	\$8,500.00	\$161,500.00
	" PVC STORM DRAIN PIPE, SCHEDULE 40, INCLUDES RISERS, PVC END CAPS, MENT STABILIZED SAND BACKFILL AND MARKERS, COMPLETE IN PLACE	LF	30	\$155.00	\$4,650.00	\$190.00	\$5,700.00	\$245.00	\$7,350.00
	" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND CKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	2210	\$115.00	\$254,150.00	\$110.00	\$243,100.00	\$145.00	\$320,450.00
0	AGE I – MODIFIED REINFORCED CONCRETE TYPE 'C' INLET (5' MINIMUM INSIDE PENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL PTHS, COMPLETE IN PLACE	EA	8	\$1,500.00	\$12,000.00	\$3,400.00	\$27,200.00	\$3,650.00	\$29,200.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE TERALYN WOODS PARKWAY EXTENSION PHASE 4 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS

2) R CONSTRUCTION CIVIL, LLC

3) PRECISE SERVICES INC.

JULY 6, 2022 LJA ENGINEERING, INC. A.CAROTHERS JULY 8, 2022

1) NORTHTEX CONSTRUCTION, LLC.

0474-8008 (9.2)

				1) NORTHTEX CONS	TRUCTION, LLC.	2) R CONSTRUCT	ION CIVIL, LLC	3) PRECISE SEI	RVICES INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
OPEN	E II – MODIFIED REINFORCED CONCRETE TYPE 'C' INLET (5' MINIMUM INSIDE ING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL IS, COMPLETE IN PLACE	EA	8	\$2,050.00	\$16,400.00	\$3,000.00	\$24,000.00	\$4,150.00	\$33,200.00
	ORCED CONCRETE TYPE "E" INLET, ALL SIDES OPEN, ALL DEPTHS, LETE IN PLACE	EA	5	\$2,500.00	\$12,500.00	\$5,000.00	\$25,000.00	\$5,200.00	\$26,000.00
	VATION, HAULING, GRADING AND HYDROMULCH SEEDING OF OUTFALL E, COMPLETE IN PLACE	LF	72	\$7.75	\$558.00	\$5.50	\$396.00	\$47.50	\$3,420.00
SLOPI	ALL SLOPE PROTECTION NO. 1 FOR 24" RCP STORM SEWER, INCLUDES E PAVING, TOE WALLS, 18" THICK CONCRETE RIP RAP, AND GEOTEXTILE C, COMPLETE IN PLACE	EA	1	\$6,850.00	\$6,850.00	\$22,700.00	\$22,700.00	\$12,500.00	\$12,500.00
SLOPI	ALL SLOPE PROTECTION NO. 2 FOR 24" RCP STORM SEWER, INCLUDES E PAVING, TOE WALLS, 18" THICK CONCRETE RIP RAP, AND GEOTEXTILE C, COMPLETE IN PLACE	EA	2	\$6,850.00	\$13,700.00	\$22,700.00	\$45,400.00	\$12,500.00	\$25,000.00
10 TREN	CH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	2210	\$0.95	\$2,099.50	\$0.10	\$221.00	\$0.10	\$221.00
GENE	M WATER POLLUTION PROTECTION PLAN COMPLIANCE, INCLUDES RAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE ROPOSAL, COMPLETE IN PLACE	LS	1	\$2,750.00	\$2,750.00	\$3,300.00	\$3,300.00	\$18,500.00	\$18,500.00
	FETY END TREATMENT FOR 24" STORM SEWER, INCLUDES SLOPE PAVING, LETE IN PLACE	EA	3	\$3,600.00	\$10,800.00	\$7,800.00	\$23,400.00	\$9,800.00	\$29,400.00
13 18" TH PLACE	IICK CONCRETE RIP RAP, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN	SY	45	\$125.00	\$5,625.00	\$135.00	\$6,075.00	\$130.00	\$5,850.00
	VE AND OFFSITE DISPOSAL OF EXISTING 6:1 END SECTION AND CONNECT OSED 24" RCP TO EXISTING 24" RCP, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,900.00	\$1,900.00	\$1,500.00	\$1,500.00	\$1,300.00	\$1,300.00
	VE AND OFFSITE DISPOSAL OF EXISTING 24" STORM SEWER, ALL DEPTHS, LETE IN PLACE	LF	15	\$62.50	\$937.50	\$30.00	\$450.00	\$55.00	\$825.00
FOOT	IN PLACE CONCRETE RETAINING WALLS, INCLUDES CLOSURE POUR, NGS, SEAL SLAB, DRAINAGE MATERIALS, BEDDING AND BACKFILL, AND PPURTENANCES, COMPLETE IN PLACE	EA	2	\$268,000.00	\$536,000.00	\$312,000.00	\$624,000.00	\$213,500.00	\$427,000.00
	DRAINAGE FACILITIES SUBTOTAL:				\$959,770.00		\$1,168,342.00		\$1,101,716.00
DIVISION IV-	PAVING ITEMS								
EXCA TRUC PLACE MAXIN	VATION WITHIN FUTURE ROAD RIGHT-OF-WAY INCLUDES HAULING VATED MATERIAL TO DESIGNATED FILL AREAS ONSITE USING OFF ROAD KS, (0-0.5 MILE), INCLUDES STRIPPINGS, STOCKPILING STRIPPINGS, EMENT COMPACTION TO +95% STANDARD PROCTOR DENSITY, WITH NUM 8" LIFTS, AND RE-APPLICATION OF STRIPPING TO FINAL GRADED COMPLETE IN PLACE	CY	2720	\$5.70	\$15,504.00	\$10.00	\$27,200.00	\$7.55	\$20,536.00
2 6" CEN	MENT STABILIZED SUB-GRADE, COMPLETE IN PLACE	SY	16340	\$4.15	\$67,811.00	\$9.00	\$147,060.00	\$4.15	\$67,811.00
	NT FOR SUBGRADE PREPARATION (10% CEMENT BY WEIGHT) AS IRED BY SOIL CONDITIONS AND APPROVED BY OWNER, COMPLETE IN	TON	433	\$325.00	\$140,725.00	\$298.00	\$129,034.00	\$340.00	\$147,220.00
4 7" REI	NFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	10368	\$70.00	\$725,760.00	\$77.00	\$798,336.00	\$72.50	\$751,680.00
5 6" REI	NFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	3165	\$6.05	\$19,148.25	\$5.00	\$15,825.00	\$5.90	\$18,673.50
6 2" TYF IN PLA	PE "D" HMAC PAVING WITH 5" FLEXIBLE BASE AND PRIME COAT, COMPLETE ICE	SY	670	\$110.00	\$73,700.00	\$75.00	\$50,250.00	\$73.50	\$49,245.00
	RETE TRUCK WASHOUT AREA, INCLUDES INSTALLATION, MAINTENANCE REMOVAL, (LOCATION TO BE DIRECTED BY THE OWNER), COMPLETE IN	EA	1	\$1,700.00	\$1,700.00	\$500.00	\$500.00	\$1,250.00	\$1,250.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE TERALYN WOODS PARKWAY EXTENSION PHASE 4

TO SERVE TERALYN WOODS PARKWAY EXTENSION PHASE 4
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A
CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS

JULY 6, 2022 LJA ENGINEERING, INC.

A.CAROTHERS JULY 8, 2022 0474-8008 (9.2)

LUA JOB NO.		0-	1) NORTHTEX CONS	TRUCTION II C	2) R CONSTRUCTION		3) PRECISE SEF	DVICES INC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
8 PERMANENT TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS AND TRAFFIC SIGNS), COMPLETE IN PLACE	LS	1	\$9,150.00	\$9,150.00	\$26,000.00	\$26,000.00	\$30,500.00	\$30,500.00
9 EXCAVATION AND GRADING OF ROADSIDE DITCH, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	3574	\$11.50	\$41,101.00	\$3.50	\$12,509.00	\$9.05	\$32,344.70
10 2' SAWCUT, REMOVE AND OFFSITE DISPOSAL OF EXISTING 7" CONCRETE PAVEMENT, EXPOSE, CLEAN AND TIE EXISTING REBAR INTO PROPOSED 7" CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	95	\$48.00	\$4,560.00	\$50.00	\$4,750.00	\$33.00	\$3,135.00
11 REMOVE AND RELOCATE EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1,450.00	\$1,450.00	\$1.00	\$1.00	\$100.00	\$100.00
12 ADA RAMPS, INCLUDES TRUNCATED DOME PAVERS WITH CONSTRASTING COLOR PER DETAIL, COMPLETE IN PLACE	EA	2	\$1,850.00	\$3,700.00	\$2,700.00	\$5,400.00	\$2,800.00	\$5,600.00
13 MANIPULATION OF FILL AREAS TO ELEVATIONS INDICATED ON THE PLANS, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPING, COMPLETE IN PLACE	CY	1310	\$5.70	\$7,467.00	\$6.50	\$8,515.00	\$7.55	\$9,890.50
14 IMPORT FILL, INCLUDES HAUL FROM DESIGNATED STOCKPILE, USING OFF ROAD TRUCKS, (0' - 0.5 MILE), PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND FINAL SITE GRADING, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	CY	27080	\$5.70	\$154,356.00	\$6.00	\$162,480.00	\$8.00	\$216,640.00
15 TYPE III BARRICADE, COMPLETE IN PLACE	EA	8	\$1,450.00	\$11,600.00	\$1,100.00	\$8,800.00	\$1,250.00	\$10,000.00
DIVISION IV- PAVING ITEMS SUBTOTAL:				\$1,277,732.25		\$1,396,660.00		\$1,364,625.70
DIVISION V – MISCELLANEOUS ITEMS	. (
WET SAND CONSTRUCTION (AS PER DETAIL), (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE OWNER), COMPLETE IN PLACE	LF	1000	\$5.00	\$5,000.00	\$5.00	\$5,000.00	\$15.00	\$15,000.00
2 DEWATERING (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE OWNER), COMPLETE IN PLACE	LF	1000	\$20.00	\$20,000.00	\$20.00	\$20,000.00	\$30.00	\$30,000.00
3 EXTRA CLEARING AND GRUBBING, COMPLETE IN PLACE	AC	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$12,500.00	\$12,500.00
BLOCK SODDING, PER SECTION 12 SPECIFICATION (TO BE USED ONLY AS DIRECTED BY THE OWNER), COMPLETE IN PLACE	SF	500	\$0.30	\$150.00	\$0.30	\$150.00	\$1.00	\$500.00
5 BROADCAST SEEDING OF RESERVES, COMPLETE IN PLACE	AC	1	\$795.00	\$795.00	\$650.00	\$650.00	\$1,250.00	\$1,250.00
6 STRIPPING MINIMUM OF 4-INCHES OF SURFACE MATERIAL AND HAUL OUTSIDE THIS DEVELOPMENT, COMPLETE IN PLACE	AC	1	\$1,400.00	\$1,400.00	\$13,000.00	\$13,000.00	\$1,750.00	\$1,750.00
7 INCREASE IN CLEARING AND GRUBBING COST TO CHIP AND HAUL OUTSIDE THIS DEVELOPMENT (AT WRITTEN DIRECTION BY THE OWNER), COMPLETE IN PLACE	AC	1	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$15,000.00	\$15,000.00
8 HAUL AND DISPOSE OF UTILITY SPOILS TO DESIGNATED FILL AREAS ONSITE, USING OFF ROAD TRUCKS (0-0.5 MILES), INCLUDES PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	LS	1	\$16,500.00	\$16,500.00	\$7,700.00	\$7,700.00	\$75,000.00	\$75,000.00
9 CEMENT STABILIZED SAND (TO BE USED ONLY AS DIRECTED BY THE OWNER), COMPLETE IN PLACE	CY	10	\$72.00	\$720.00	\$25.00	\$250.00	\$50.00	\$500.00
10 DEDUCTION ON STAGE II INLETS (TYPE 'C' AND'C-1') NOT CONSTRUCTED FOR THIS PROJECT, COMPLETE IN PLACE	EA	0	-\$500.00	\$0.00	-\$500.00	\$0.00	-\$500.00	\$0.00
11 EXTRA FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	500	\$1.95	\$975.00	\$1.00	\$500.00	\$2.00	\$1,000.00
12 ADJUST MANHOLE RIM TO FINAL GRADE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	20	\$720.00	\$14,400.00	\$150.00	\$3,000.00	\$350.00	\$7,000.00
DIVISION V - MISCELLANEOUS ITEMS SUBTOTAL:				\$64,940.00		\$55,250.00		\$159,500.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE TERALYN WOODS PARKWAY EXTENSION PHASE 4
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS JULY 6, 2022 LJA ENGINEERING, INC.

A.CAROTHERS JULY 8, 2022 0474-8008 (9.2)

				1) NORTHTEX CONS	STRUCTION, LLC.	2) R CONSTRUCT	TON CIVIL, LLC	3) PRECISE SEE	RVICES INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
ALTERNATE BID NO. 1	ITEMS								
INCLUDES STRIP COMPACTION TO FINAL GRADING	OF FILL AREAS TO ELEVATIONS INDICATED ON THE PLANS, PING, STOCKPILING STRIPPINGS, PLACEMENT AND 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, TO BE USED IN LIEU OF .14, COMPLETE IN PLACE	CY	5340	\$5.70	\$30,438.00	\$6.50	\$34,710.00	\$10.25	\$54,735.00
ALTERNATE BID NO. 1	ITEMS SUBTOTAL:				\$30,438.00		\$34,710.00		\$54,735.00
BIDDING SUMMARY									
SUBTOTAL DIVISION I -	WATER DISTRIBUTION SYSTEM				\$450,919.00		\$465,185.00		\$513,503.50
SUBTOTAL DIVISION II	SANITARY SEWER COLLECTION				\$18,220.00		\$13,886.00		\$36,595.90
SUBTOTAL DIVISION III-	- DRAINAGE FACILITIES				\$959,770.00		\$1,168,342.00		\$1,101,716.00
SUBTOTAL DIVISION IV	- PAVING ITEMS				\$1,277,732.25		\$1,396,660.00		\$1,364,625.70
SUBTOTAL DIVISION V	- MISCELLANEOUS ITEMS				\$64,940.00		\$55,250.00		\$159,500.00
TOTAL AMOUNT BASE	BID				\$2.771.581.25		\$3.099.323.00		\$3.175.941.10
ALTERNATE BID NO. 1	ITEMS								
TOTAL AMOUNT BASE	BID			P. T. T.	\$2,771,581.25		\$3,099,323.00		\$3,175,941.10
DEDUCT DIVISION IV- P	AVING ITEMS ITEM NO.14				-\$154,356.00		-\$162,480.00		-\$216,640.00
SUBTOTAL ALTERNATE	BID NO. 1 ITEMS				\$30,438.00		\$34,710.00		\$54,735.00
TOTAL AMOUNT INCLU	DING ALTERNATE BID NO. 1 ITEMS				\$2.647.663.25		\$2.971.553.00		\$3.014.036.10

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE TERALYN WOODS PARKWAY EXTENSION PHASE 4 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS JULY 6, 2022 LJA ENGINEERING, INC. A. CAROTHERS JULY 8, 2022 0474-8008 (9.2)

5) PRINCIPAL SERVICES, LTD

4) CE BARKER, LTD

				4) CE DARRE	IR, LID	5) PRINCIPAL SER	VICES, LTD
ITEM	DESCRIPTION	UNIT	QTY U	NIT COST	TOTAL COST	UNIT COST	TOTAL COST
DIVISION I	- WATER DISTRIBUTION SYSTEM						
	CH P.V.C. WATER LINE, C-900, DR 18, CLASS 235, INCLUDES ALL DEPTHS, INGS, BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	153	\$43.45	\$6,647.85	\$92.00	\$14,076.00
	NCH P.V.C. WATER LINE, C-900, DR 18, CLASS 235, INCLUDES ALL DEPTHS, INGS, BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	3230	\$85.32	\$275,583.60	\$137.00	\$442,510.00
	: HYDRANT UNIT ALL DEPTHS (INCLUDES APPROPRIATE TEE, FITTINGS, 6" E VALVE AND BOX, AND LEAD PIPE), COMPLETE IN PLACE	EA	12	\$9,982.03	\$119,784.36	\$7,500.00	\$90,000.00
4 8-IN	CH AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	7	\$2,434.24	\$17,039.68	\$2,200.00	\$15,400.00
5 12-11	NCH AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	4	\$5,253.65	\$21,014.60	\$4,000.00	\$16,000.00
	NCH SAFETY SYSTEM, ALL DEPTHS (INCLUDES ALL LATERAL LEADS), IPLETE IN PLACE	LF	3500	\$0.01	\$35.00	\$0.10	\$350.00
7 12" F PLA	PLUG & CLAMP WITH 2" BLOW -OFF VALVE & BOX ASSEMBLY, COMPLETE IN CE	EA	1	\$1,273.09	\$1,273.09	\$1,300.00	\$1,300.00
	DUCTILE IRON WATER LINE, CLASS 52, INCLUDES FITTINGS, ADAPTERS, DING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	151	\$162.63	\$24,557.13	\$300.00	\$45,300.00
	LUG & CLAMP WITH 2" BLOW-OFF VALVE & BOX ASSEMBLY, COMPLETE IN	EA	2	\$1,097.57	\$2,195.14	\$1,100.00	\$2,200.00
INCL REM	CE T CONNECTION OF PROPOSED 12" WATER LINE TO EXISTING WATER LINE, LUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND IOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL THS, COMPLETE IN PLACE	EA	1	\$1,501.74	\$1,501.74	\$1,100.00	\$1,100.00
DIVISION I	- WATER DISTRIBUTION SYSTEM SUBTOTAL:				\$469,632.19		\$628,236.00
DIVISION I	I - SANITARY SEWER COLLECTION						
	NDARD PRECAST 4' DIAMETER SANITARY SEWER MANHOLE, (0'-8' DEPTH), LUDES PROCTECTIVE INTERIOR COATING AND ADJUSTMENTS, COMPLETE IN CE	EA	1	\$3,470.04	\$3,470.04	\$5,000.00	\$5,000.00
	RA VERTICAL DEPTH FOR 4" DIAMETER SANITARY SEWER MANHOLE (OVER 8" TH), COMPLETE IN PLACE	VF	1.6	\$275.40	\$440.64	\$500.00	\$800.00
	VC SEWER PIPE, ASTM D-2241, SDR 26, 8'-12' CUT, INCLUDES BEDDING AND KFILL COMPLETE IN PLACE	LF	20	\$63.06	\$1,261.20	\$118.00	\$2,360.00
	VC SEWER PIPE, ASTM D-2241, SDR 26, 12'-16' CUT, INCLUDES BEDDING AND KFILL, COMPLETE IN PLACE	LF	119	\$65.83	\$7,833.77	\$125.00	\$14,875.00
	NCH SAFETY SYSTEM FOR SANITARY SEWER, INCLUDES ALL LATERAL DS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	139	\$0.01	\$1.39	\$0.10	\$13.90
6 8" S	ANITARY SEWER PLUG, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$289.90	\$579.80	\$500.00	\$1,000.00
DIVISION II	- SANITARY SEWER COLLECTION SUBTOTAL:				\$13,586.84		\$24,048.90
DIVISION I	II– DRAINAGE FACILITIES						
	NFORCED CONCRETE TYPE "C" MANHOLE, FOR 42" STORM SEWER AND ILLER, INCLUDES ALL ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	19	\$3,674.58	\$69,817.02	\$5,000.00	\$95,000.00
	PVC STORM DRAIN PIPE, SCHEDULE 40, INCLUDES RISERS, PVC END CAPS, IENT STABILIZED SAND BACKFILL AND MARKERS, COMPLETE IN PLACE	LF	30	\$99.68	\$2,990.40	\$200.00	\$6,000.00
	RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND KFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	2210	\$117.92	\$260,603.20	\$160.00	\$353,600.00
OPE	GE I – MODIFIED REINFORCED CONCRETE TYPE 'C' INLET (5' MINIMUM INSIDE NING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL THS, COMPLETE IN PLACE	EA	8	\$1,585.08	\$12,680.64	\$2,000.00	\$16,000.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE TERALYN WOODS PARKWAY EXTENSION PHASE 4 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS JULY 6, 2022 LJA ENGINEERING, INC.

5) PRINCIPAL SERVICES, LTD

A.CAROTHERS JULY 8, 2022 0474-8008 (9.2)

4) CE BARKER, LTD

				., 02 5,	-1., 2.2	0)1.11.10.1.712.02.	11.020, 2.15
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
5	STAGE II – MODIFIED REINFORCED CONCRETE TYPE 'C' INLET (5' MINIMUM INSIDE OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	8	\$1,462.68	\$11,701.44	\$3,000.00	\$24,000.00
6	REINFORCED CONCRETE TYPE "E" INLET, ALL SIDES OPEN, ALL DEPTHS, COMPLETE IN PLACE	EA	5	\$2,949.84	\$14,749.20	\$4,000.00	\$20,000.00
7	EXCAVATION, HAULING, GRADING AND HYDROMULCH SEEDING OF OUTFALL SWALE, COMPLETE IN PLACE	LF	72	\$37.76	\$2,718.72	\$50.00	\$3,600.00
8	OUTFALL SLOPE PROTECTION NO. 1 FOR 24" RCP STORM SEWER, INCLUDES SLOPE PAVING, TOE WALLS, 18" THICK CONCRETE RIP RAP, AND GEOTEXTILE FABRIC, COMPLETE IN PLACE	EA	1	\$6,230.16	\$6,230.16	\$10,000.00	\$10,000.00
9	OUTFALL SLOPE PROTECTION NO. 2 FOR 24" RCP STORM SEWER, INCLUDES SLOPE PAVING, TOE WALLS, 18" THICK CONCRETE RIP RAP, AND GEOTEXTILE FABRIC, COMPLETE IN PLACE	EA	2	\$7,503.12	\$15,006.24	\$10,000.00	\$20,000.00
10	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	2210	\$0.01	\$22.10	\$0.10	\$221.00
11	STORM WATER POLLUTION PROTECTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$756.00	\$756.00	\$1,000.00	\$1,000.00
12	6:1 SAFETY END TREATMENT FOR 24" STORM SEWER, INCLUDES SLOPE PAVING, COMPLETE IN PLACE	EA	3	\$3,229.11	\$9,687.33	\$4,000.00	\$12,000.00
13	18" THICK CONCRETE RIP RAP, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	45	\$105.26	\$4,736.70	\$120.00	\$5,400.00
14	REMOVE AND OFFSITE DISPOSAL OF EXISTING 6:1 END SECTION AND CONNECT PROPOSED 24" RCP TO EXISTING 24" RCP, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,080.80	\$2,080.80	\$500.00	\$500.00
15	REMOVE AND OFFSITE DISPOSAL OF EXISTING 24" STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	LF	15	\$0.01	\$0.15	\$500.00	\$7,500.00
16	CAST IN PLACE CONCRETE RETAINING WALLS, INCLUDES CLOSURE POUR, FOOTINGS, SEAL SLAB, DRAINAGE MATERIALS, BEDDING AND BACKFILL, AND ALL APPURTENANCES, COMPLETE IN PLACE	EA	2	\$420,559.67	\$841,119.34	\$298,000.00	\$596,000.00
DIVIS	ON III- DRAINAGE FACILITIES SUBTOTAL:				\$1,254,899.44		\$1,170,821.00
	ION IV- PAVING ITEMS				***************************************		***************************************
1	EXCAVATION WITHIN FUTURE ROAD RIGHT-OF-WAY INCLUDES HAULING EXCAVATED MATERIAL TO DESIGNATED FILL AREAS ONSITE USING OFF ROAD TRUCKS, (0-0.5 MILE), INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT COMPACTION TO +95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPING TO FINAL GRADED AREA, COMPLETE IN PLACE	CY	2720	\$15.00	\$40,800.00	\$12.00	\$32,640.00
2	6" CEMENT STABILIZED SUB-GRADE, COMPLETE IN PLACE	SY	16340	\$5.31	\$86,765.40	\$7.00	\$114,380.00
3	CEMENT FOR SUBGRADE PREPARATION (10% CEMENT BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY OWNER, COMPLETE IN PLACE	TON	433	\$305.29	\$132,190.57	\$225.00	\$97,425.00
4	7" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	10368	\$77.29	\$801,342.72	\$80.00	\$829,440.00
5	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	3165	\$8.45	\$26,744.25	\$3.20	\$10,128.00
6	$2^{\rm o}$ TYPE $^{\rm o}$ TYPE $^{\rm o}$ HMAC PAVING WITH 5" FLEXIBLE BASE AND PRIME COAT, COMPLETE IN PLACE	SY	670	\$225.00	\$150,750.00	\$75.00	\$50,250.00
7	CONCRETE TRUCK WASHOUT AREA, INCLUDES INSTALLATION, MAINTENANCE AND REMOVAL, (LOCATION TO BE DIRECTED BY THE OWNER), COMPLETE IN PLACE	EA	1	\$2,592.00	\$2,592.00	\$2,000.00	\$2,000.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE TERALYN WOODS PARKWAY EXTENSION PHASE 4 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS JULY 6, 2022 LJA ENGINEERING, INC. A CAPOTHERS

JULY 6, 2022 LJA ENGINEERING, A.CAROTHERS JULY 8, 2022 0474-8008 (9.2)

LUAU	ob No.		0414	(0.2)			
				4) CE BARKI	ER, LTD	PRINCIPAL SEF	RVICES, LTD
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
8	PERMANENT TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS AND TRAFFIC SIGNS), COMPLETE IN PLACE	LS	1	\$31,454.74	\$31,454.74	\$7,500.00	\$7,500.00
9	EXCAVATION AND GRADING OF ROADSIDE DITCH, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	3574	\$7.59	\$27,126.66	\$10.00	\$35,740.00
10	2' SAWCUT, REMOVE AND OFFSITE DISPOSAL OF EXISTING 7" CONCRETE PAVEMENT, EXPOSE, CLEAN AND TIE EXISTING REBAR INTO PROPOSED 7" CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	95	\$36.72	\$3,488.40	\$15.00	\$1,425.00
11	REMOVE AND RELOCATE EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$0.01	\$0.01	\$500.00	\$500.00
12	ADA RAMPS, INCLUDES TRUNCATED DOME PAVERS WITH CONSTRASTING COLOR PER DETAIL, COMPLETE IN PLACE	EA	2	\$2,448.00	\$4,896.00	\$2,000.00	\$4,000.00
13	MANIPULATION OF FILL AREAS TO ELEVATIONS INDICATED ON THE PLANS, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPING, COMPLETE IN PLACE	CY	1310	\$10.00	\$13,100.00	\$7.00	\$9,170.00
14	IMPORT FILL, INCLUDES HAUL FROM DESIGNATED STOCKPILE, USING OFF ROAD TRUCKS, (0' - 0.5 MILE), PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND FINAL SITE GRADING, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	CY	27080	\$5.25	\$142,170.00	\$11.25	\$304,650.00
15	TYPE III BARRICADE, COMPLETE IN PLACE	EA	8	\$1,285.20	\$10,281.60	\$1,000.00	\$8,000.00
DIVIS	ION IV- PAVING ITEMS SUBTOTAL:				\$1,473,702.35		\$1,507,248.00
DIVIS	ION V - MISCELLANEOUS ITEMS						
1	WET SAND CONSTRUCTION (AS PER DETAIL), (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE OWNER), COMPLETE IN PLACE	LF	1000	\$5.00	\$5,000.00	\$5.00	\$5,000.00
2	DEWATERING (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE OWNER), COMPLETE IN PLACE	LF	1000	\$20.00	\$20,000.00	\$25.00	\$25,000.00
3	EXTRA CLEARING AND GRUBBING, COMPLETE IN PLACE	AC	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
4	BLOCK SODDING, PER SECTION 12 SPECIFICATION (TO BE USED ONLY AS DIRECTED BY THE OWNER), COMPLETE IN PLACE	SF	500	\$0.30	\$150.00	\$2.75	\$1,375.00
5	BROADCAST SEEDING OF RESERVES, COMPLETE IN PLACE	AC	1	\$0.01	\$0.01	\$1,000.00	\$1,000.00
6	STRIPPING MINIMUM OF 4-INCHES OF SURFACE MATERIAL AND HAUL OUTSIDE THIS DEVELOPMENT, COMPLETE IN PLACE	AC	1	\$0.01	\$0.01	\$1,000.00	\$1,000.00
7	INCREASE IN CLEARING AND GRUBBING COST TO CHIP AND HAUL OUTSIDE THIS DEVELOPMENT (AT WRITTEN DIRECTION BY THE OWNER), COMPLETE IN PLACE	AC	1	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
8	HAUL AND DISPOSE OF UTILITY SPOILS TO DESIGNATED FILL AREAS ONSITE, USING OFF ROAD TRUCKS (0-0.5 MILES), INCLUDES PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	LS	1	\$3,747.90	\$3,747.90	\$5,000.00	\$5,000.00
9	CEMENT STABILIZED SAND (TO BE USED ONLY AS DIRECTED BY THE OWNER), COMPLETE IN PLACE	CY	10	\$50.00	\$500.00	\$50.00	\$500.00
10	DEDUCTION ON STAGE II INLETS (TYPE 'C' AND'C-1') NOT CONSTRUCTED FOR THIS PROJECT, COMPLETE IN PLACE	EA	0	-\$500.00	\$0.00	-\$500.00	\$0.00
11	EXTRA FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	500	\$0.01	\$5.00	\$2.15	\$1,075.00
12	ADJUST MANHOLE RIM TO FINAL GRADE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	20	\$0.01	\$0.20	\$100.00	\$2,000.00
DIVIS	ION V - MISCELLANEOUS ITEMS SUBTOTAL:				\$34,403.12		\$46,950.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE TERALYN WOODS PARKWAY EXTENSION PHASE 4 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS JULY 6, 2022 LJA ENGINEERING, INC. A.CAROTHERS JULY 8, 2022

0474-8008 (9.2) 4) CE BARKER, LTD 5) PRINCIPAL SERVICES, LTD ITEM DESCRIPTION UNIT QTY UNIT COST TOTAL COST UNIT COST TOTAL COST ALTERNATE BID NO. 1 ITEMS 1 MANIPULATION OF FILL AREAS TO ELEVATIONS INDICATED ON THE PLANS, CY 5340 \$53,400.00 \$10.00 \$11.25 INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, TO BE USED IN LIEU OF PAVING ITEM NO. 14, COMPLETE IN PLACE

ALTERNATE BID NO. 1 ITEMS SUBTOTAL:	\$53,400.00	\$60,075.00
BIDDING SUMMARY		
SUBTOTAL DIVISION I – WATER DISTRIBUTION SYSTEM	\$469,632.19	\$628,236.00
SUBTOTAL DIVISION II - SANITARY SEWER COLLECTION	\$13,586.84	\$24,048.90
SUBTOTAL DIVISION III- DRAINAGE FACILITIES	\$1,254,899.44	\$1,170,821.00
SUBTOTAL DIVISION IV- PAVING ITEMS	\$1,473,702.35	\$1,507,248.00
SUBTOTAL DIVISION V - MISCELLANEOUS ITEMS	\$34,403.12	\$46,950.00
TOTAL AMOUNT BASE BID	\$3.246.223.94	\$3.377.303.90
ALTERNATE BID NO. 1 ITEMS		
TOTAL AMOUNT BASE BID	\$3,246,223.94	\$3,377,303.90
DEDUCT DIVISION IV- PAVING ITEMS ITEM NO.14	-\$142,170.00	-\$304,650.00
SUBTOTAL ALTERNATE BID NO. 1 ITEMS	\$53,400.00	\$60,075.00
TOTAL AMOUNT INCLUDING ALTERNATE BID NO. 1 ITEMS	\$3.157.453.94	\$3.132.728.90

BID TABULATION ROUTING FORM

То:	MICAH KREIKEMEIER, P.E.	,
From:	A.CAROTHERS	
Date:	8-Jul-22	
Job Number:	0474-8008 (9.2)	
Project Name:	CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE TERALYN WOODS PARKWAY EXTENSION PHASE 4	S
Bid Date:	JULY 6, 2022	
Attachments:	Bid Tabulation Bids Other:	
Notes:		
	EW AND SEAL THE BID TAB, CHECK ONE OF THE OPTIONS BELOW, ALL ITEMS TO CAG	
	Prepare Recommendation of Award Letter for low bidder	
	Prepare Notice of Award Letter for Low Bidder	
	☐ Anticipated Award Letter	
	Based on actions Taken at District Meeting on:(Date)	
	Prepare Contracts for Low Bidder	
	Hold until further notice	
	Other/Special Instructions:	